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1: 	The term “other excess hair” can NOT be coded to L68.8      	False

2:	L02.0 can be used for boil of the eyelid 				False

What is the missing word/s?

3:	Principal Diagnosis is defined as the diagnosis established after study to be chiefly responsible for occasioning an episode of admitted patient care.

4:	ACS 0002 is the Australian Coding Standard defining the Associated Diagnosis.

5:	A procedure can be defined as carrying a ___________ risk and/or an anaesthetic risk.

6:	Using the text in the Tabular List for ICD-10-AM after finding the following entry in the index::
Cholangiolitis (acute) (chronic) (extrahepatic) (gangrenous) (intrahepatic) K83.0

Is the statement below true or false?

K83.0 is the correct code for both:
· acute cholangiolitis, and
· chronic cholangiolitis				True

7:	Using the ICD-0-AM Index to find the correct answer to:
	
	Where is the phrase:
Plastic surgery for unacceptable cosmetic appearance found in the index in relation to the lead term surgery.

A) In alphabetical order under Surgery - plastic
B) After the entries for – cosmetic
C) after the entries for –elective

8:	For conditions stated to be ‘acute on chronic’ code both acute and chronic.  
True 

9:      When a patient presents with a problem, and after study the underlying condition is identified, then the underlying condition is assigned as the Principal Diagnosis.
False

10:	If investigations were undertaken and the results were inconclusive, yet treatment was initiated, assign a code for the suspected condition.
True 

11: 	Procedures normally not coded must be coded if they are the principal reason for same day episodes of care.
True 

12:	Find the code in the Tabular List of ICD-10-AM and choose the correct answer.

H65.1 is the correct code for:
a) acute and subacute otitis media
b) mucoid otitis media
c) acute and subacute allergic otitis media
d) non suppuratives otitis media
e) all of the above.

13: 	Find the code in the Tabular List of ICD-10-AM and choose the correct answer.

K31.7 is the correct code for:
a) polyp of the stomach
b) polyp of the duodenum
c) adenomatous polyp of duodenum
d) adenomatous polyp of stomach
e) polyp of the stomach and polyp of the duodenum

14:	In the index to ICD-10-AM find the code for…. (remember that “with” comes before “A” in the index.

	Actinomycosis with pneumonia					A42.0 J17.0

	Agammaglobulinaemia with lymphopenia			D81.9

	11 hydroxylase defect						E25.0

15:	M15 is a complete code for primary generalized arthrosis
False

16:	M21.2 is a complete code for flexion deformity
False

17:	Australian coding standard 1122 applies to K25.0	
True 


[image: ] © Copyright 2022 A Coote	Page 3 of 3

image1.jpeg
g Hea”
docakon





image2.png
ZHE




